


Q) (® © (D)=(C)/(B) (B (F=C)+(E) | (G)=(F)/(B)
3 3 3 3 3

208,200 266,586 64,782 24% 22,430 87,212 33%
175,200 419,383 207,200 49% 55,648 262,848 63%
84,000 107,820 110,202 102% 110,202 102%
126,600 318,707 215588 68% 37,087 252675 79%
208,800 123,791 45423 37% 24,540 69,963 57%
76,200 227,400 109,743 48% 3,400 113143 50%
61,200 138133 68,117 49% 68,117 49%
49,800 148,800 102,940 69% 26,611 129551 87%
167,400 312,449 215988 69% 39,976 255,964 82%
1157400 2063070 | 1,139,983 55%( 209,692 1349675 65%




